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Sl. No.1
QBID:1555071

Identify the correct preposition to make a meaningful sentence.

The scheme of Pradhan Mantri Jan Dhan Yojna was originated the Prime Minister.
(1) m

(2) with

(3) for

(4) by

Frafafad § 4 oF 9 dged v A8 8 2
W &

(2) =

3 A

4 3

1[Option ID=45001]

2[Option ID=45002]

3[Option ID=45003]
4[Option ID=45004]

Sl. No.2
QBID:1555072

Identify the meaning of the underlined idiom from the options given.

Rajesh's brother gave him a bird's eye view of the courses offered in the Hansraj College .

(1) an objective view

(2) a detailed presentation

(3) an elaborate deseription

(4) a general view
fFafafed & 9 -9 Usg BRI UN 1781 § 2
(1) EF, ABHH

() 9%, erd

(3) I PRI

(4) P, SH

1[Option ID=45045]
2[Option ID=45046]
3[Option ID=45047]
4[Option ID=45048]

Sl. No.3
QBID:1555073

Choose the correct option to make a meaningful sentence.

For the last seven months I in this company.
(1) am working

(2) has been working

(3) have been working

(4) have worked

YT @ FoRT ¥ U 3 fardl av & AT 814 &1 H1d Udhe Bidl 6 3 & .91 BRP $od 6 ?

(1) FUIPRS
(2) FTHHRS
(3) IS BRB
(4)




TSRS

1[Option ID=45073]
2[Option ID=45074]
3[Option ID=45075]
4[Option ID=45076]

Sl. No.4
QBID:1555074

Identify synonym for the underlined word in the sentence.

Rabindranath Tagore had penchant for reading books.

(1) liking

(2) strength
(3) inclination
(4) desire

:ﬁaamﬁ—q@%:W&ﬁ-ﬁﬂﬁ(Assertioll.%)%@ﬁﬁ’l@ﬂ%ﬂ)lWWW{R&&SGHR)%W]}:
iy A - T fagmm e o= @ |
PRUR : I1H H YO B3 & 915 THaigivor o1 &9 9ed oare |

IR PYH & el 1, 14 fGU U f[dbedi § I Tel 3 &l 9-19 Il -
(1) ARREA TAE IR R, AT Tol AR &

(2) A SRR A Id g, dfth R A T Tel e 76l §

(3) ATTE. APTR 3T

() AT, APTRITS

1[Option ID=45077]

2[Option ID=45078]

3[Option ID=45079]
4[Option ID=45080]

Sl. No.5
QBID:1555075

Find correctly spelt word form the options given below (only one word is spelt correctly)
(1) Abatoir

(2) Apiary

(3) Aviay

(4) Archves

Gail-1 & FIY FAI-11 BT Har S -

T T I
@) Gkl
A |3RTg L |l
B. [S@d I |&F
c. |faeg I |3ey
D. |T= v |a®
il fau U fowedl § O 98l SR &1 994 Bl -

(1) A-IV. B-III, C-I. D-IT
(2) A-IL B-IIIL C-IV, D-I
(3) A-I. B-II, C-ITL. D-IV
(4) A-IL. B-IV. C-III. D-I
1[Option ID=45081]
2[Option ID=45082]

3[Option ID=45083]
4[Option ID=45084]

Sl. No.6
QBID:1555076




Identify the correct active voice for the sentence given below :

When were my shirts returned by Ajay ?
(1) When Ajay returned my shirts ?
(2) When will Ajay returned my shirts ?
(3) When 1s Ajay return my shirts 7

(4) When did Ajay return my shirts ?

:ﬁaamﬁﬂ@%:@Hﬁ-ﬁﬁ?ﬁ(Asseniotl‘ﬂxjﬁmﬁﬁ@ﬁ%ﬁlWWW{ReasonR)aEWﬁ:
Py A« PR Wi &7 areand € ot Sad oafed &1 o1 9 Eiaes fR |
SRUIR : 59 HgTdR &1 o g 8T |

IWRIT HYH & TS |, FId G0 77 fadedi § 4 Yl Sk Bl 999 Difol —
(1) ASRRIF TAE SRR AT T TN

(2) A SRR T €, AfT R A B GET oAren e §

(3) ATIE, AR A

(4) AITTE. APTIRITR

1[Option ID=45085]
2[Option ID=45086]
3[Option ID=45087]
4[Option ID=45088]

Sl. No.7
QBID:1555077

Identify the correct direct speech for the sentence given below :

Farhann told Ashok that Taj Mahal is the Seventh Wonder of the World.

(1) Farhaan suggested to Ashok, "Taj Mahal is the Seventh Wonder of the World".
(2) Farhaan said to Ashok, "Taj Mahal is the Seventh Wonder of the World".

(3) Farhaan tells to Ashok, "Taj Mahal is the Seventh Wonder of the World".

(4) Farhaan says to Ashok, "Taj Mahal is the Seventh Wonder of the World".

Frofifad ¥ § PH-a g o A8 2 0
(1) HRR -

(2) TR - U5

(3) 3PRI-HY

(4) BEBRI-HIG

1[Option ID=45089]

2[Option ID=45090]

3[Option ID=45091]
4[Option ID=45092]

Sl. No.8
QBID:1555078

Choose the correct order of the paragraph to create a meaning out of PQRS set :
To explain

P : that there are no opposites.

Q : forms required looking at the second

R : approach to opposites in the theory of forms

S : how Plato can deny the existence of some
(1) QPSR
(2) POQSR
(3) RSQP
(4) SQRP




FEl-1 & 1Y FEI-11 BT el DI -

1 et 101

A | € Ui g3 gufd L |og®

B. |forgds UR Gl o §ch 1. |ua
C | gl M [gRe=
D. |idl &R &l & & dacl Al g 4 | IV, |[UiRsiHe

i U U [ds el © 9§ 9el 3R &1 994 i -
(1) A-IV, B-IIL C-II, D-I

(2) A-IIL B-IV, C-1, D-TI

(3) A-IL B-L C-IV, D-III

(4) A-I B-IIL C-II, D-IV

1[Option ID=45093]

2[Option ID=45094]

3[Option ID=45095]
4[Option ID=45096]

Sl. No.9
QBID:1555079

Choose the correct sentence.
(1) She ate her breakfast, had a shower. and goes to school.

(2) She ate her breakfast, had a shower. and gone to school.

(3) She ate her breakfast, had a shower. and went to school.

(4) She ate her breakfast, had a shower. and was going for school.
FrafeRad & 9 gqy arey Rigd Sifu -

(1) GRS SATA ARG |

2 AU AT |

() R FT: AT E |

4 AT FAHCG |

1[Option ID=45097]

2[Option ID=45098]

3[Option ID=45099]
4[Option ID=45100]

Sl. No.10
QBID:15550710

Find out which part of the following sentence has an error.
(1) Harsha told to the housekeeper

(2) that he should not
(3) Come for work
(4) from tomorrow

T I e s & -

AT
B. 3Tgifarg
C. I
D. JHF R
E. ardat
i fSu U fa el H ¥ 6l SR &1 99 Bifolg -
(1) C.D 3RE
(2) B.C 3RE
(3) C.D.E3RA

(@) A B3RC

1[Option ID=45005]




2[Option ID=45006]
3[Option ID=45007]
4[Option ID=45008]

Sl. No.11
QBID:15550711

Who built the famous Shiva Temple at Ellora ?

(1) Chalukya King Pulikeshi IT

(2) Gupta King Samudragupta

(3) Mauryan Emperor Ashoka

(4) Rashtrakuta Ruler Krishna I

9 9 T TaRT # fra-#feR &1 o san 2
(1) T TS Joh i 11

(2) TS TR

() Hid guIe s

(4) VPHT UG PWI I

1[Option ID=45009]
2[Option ID=45010]
3[Option ID=45011]
4[Option ID=45012]

Sl. No.12
QBID:15550712

The origin of Indian music can be traced to which of the following Vedic Samhitas ?

(1) Atharvaveda
(2) Yajurveda
(3) Samaveda
(4) Rigveda

YR Tt H7 SeiH FHaifed g afes dRardgang 2
(1) sfydag

(2) T9dg

(3) THdg

(4) Fidg

1[Option ID=45013]
2[Option ID=45014]
3[Option ID=45015]
4[Option ID=45016]

SlI. No.13
QBID:15550713

Buddhism made an important impact by allowing which of the following hitherto marginalized sections of society into its fold ?

A, Women
B. Warriors
C. Merchants
D. Shudras

Choose the correct answer from the options given below :
(1) Aonly
(2) AandD only

(3) Aand C only
(4) Donly




digyd = Ta &SI R 93 FEifed g arf &t s o & eifie 9% 39 R 1 geayuf nvid sTar e

A Ofgararf
B. digl
C. TR
D. %
AT few T fadhedt & & Ge¥ 39gFd IO H 494 HIST -
(1) FHad A
(2) HaTAIRD
(3) PadA AR C
(4) FIFAD

1[Option ID=45017]
2[Option ID=45018]
3[Option ID=45019]
4[Option ID=45020]

Sl. No.14
QBID:15550714

President of India is empowered to make which of the following appointments ?

A Chief of the Army

B. Speaker of the Lok Sabha
C. Chief Justice of India

D. Chief of the Air Force

Choose the correct answer from the options given below :
(1) A.BandD only

(2) AandD only

(3) Aand C only

(4) A, CandD only

frafifaa 8 8 e 9t Fafeadl & g yra & iyl o amedar e 8 2

A ST UHE
B. TGO 3e8f

C. YRd & T3 i

D. d1g 1 WHE

il fau 71U [l § ¥ gl SR &1 99 Bifol -
(1) FFAA. B ARD

(2) Fad A ARD

(3) FaaAARC

(4) HaAAA. C AR D

1[Option ID=45021]
2[Option ID=45022]
3[Option ID=45023]
4[Option ID=45024]

Sl. No.15
QBID:15550715

Which of the following statements are correct about Swachh Bharat Mission - Urban ?

A. Tt has an outlay of 1.41 Lakh crore and will be implemented over 5 years.
B. The nodal Ministry is Ministry of Housing and Urban Affairs.
C. SBM-U phase 2 was launched by Hardeep Singh Puri.

D. SBM was launched on 2%¢ October 2014.

Choose the correct answer from the options given below :




(1) A, BandD only
(2) Aand B only

(3) AandD only

(4) A.B.CandD only

W5 YRA-AYF Wi & aR § Fefef@d e T su= 98t 8 2
A SUDT Y 1.41 TR BRS € RS 5 au 4 feharf-aa f&ar S |

B. SY@] AI8d HATGY."37aTy 3R Y6t &1 Ud 7R Ha1ad” € |
C.TH . TH.- J B 2 §3EY e T gRT R foar mar o |
D. TH.E1.UH. 2 ETaR 2014 HIFRYGHT AT |

it B 717 faeat # & WEr 3097 &1 944 Hiiag

(1) HFFAA, B AR D
(2) Had A AR B

(3) &ad A 3IRD

(4) HFAAA, B, C 3R D

1[Option ID=45025]
2[Option ID=45026]
3[Option ID=45027]
4[Option ID=45028]

Sl. No.16
QBID:15550716

In a certain code language.

"book pen mouse computer” is coded as "er gh i cv”
"keypad pen book bottle” is coded as "gn ty iu kl"
"computer pen bottle paper” is coded as "ev kl 10 gh”

Which of the following code is used for "pen"
(1) gh
(2) iu
(3) v
(4) io

TS fa=iv pc Hul A
"book pen mouse computer” BT % -"er gh 1u cv".
"keypad pen book bottle" PTHC o= "gn ty iu kl"

"computer pen bottle paper” TP T -"evklio gh".

"pen"%ﬁ'ﬂﬁ'ﬂ%@ﬂﬁ@ﬁ@ Wﬁ—a

(1) gh
(2) i
(3) ¢V
(4) 10
1[Option ID=45029]
2[Option ID=45030]

3[Option ID=45031]
4[Option ID=45032]

Sl. No.17
QBID:15550717




In a certain code language.

'Attend class daily good' is written as 935, 24%9, 336, 24*3
'Begin great any matter' is written as 3 & 3. 889, 10*15, 14%4
"Less error and fire' is written as 1087, 23%8, 0%14, 24&3

'"Tool better than serew’ 1s written as 16%22, 5%21. 10*4, 14%22

According to the given code what will be the code for the word ‘Burst' ?
(1) 8%4
(2) 6%2
(3) 8%2
(4) 684

U faiy e HeT o

'Attend class daily good' P 085, 24%9, 356, 24*3 AT AT B
'Begin great any matter’ PI3 & 3. 8%9, 10%15, 1484 ﬁﬂ?ﬂﬁﬁﬂ%
'Less error and fire' @1 1087, 23%8. 9%14, 24&3 oG ST §

"Tool better than screw’ B! 16%22, 5$21. 10%4, 14%22 feRET S § |

SR [GU U Hel & SHR Uek Burst' 1 HE 15 2
(1) 834

(2) 6%2

(3) 8%2

(4) 64

1[Option ID=45033]

2[Option ID=45034]

3[Option ID=45035]
4[Option ID=45036]

Sl. No.18
QBID:15550718

If the symbol '+ means '—' and "*' means '/’ and vice versa then, what would be the value of following equation ?

4*2/4-2+3
) 7
(2) 3
(3) -8
(4) 10

i Tohd + o7 3 — § 3R+ o1 3 § 3R 391 fowdia ot o © o Fafeiad gfte=u &1 a9 @ s 2

4*2/4-2+3
1) 7

(2) 3

3) -8

(4) 10

1[Option ID=45037]
2[Option ID=45038]

3[Option ID=45039]
4[Option ID=45040]

Sl. No.19
QBID:15550719




If V plays first. which one of the following must be true ?

A. T perform sixth.

B. X perform third.

C. Z perform seventh.

D. T perform immediately after Y.
E. W perform immediately after X.

(1) C and E are correct,
(2) DandE

(3) A and B are correct
(4) C and D are correct

IfE v T Uge WRfd 3o & of FEfifad § 3 o1 fas e I g 2
A TT6d HH R IEA ZATS |

B. X dRR Y R U a1 8 |

C. Z 91ad HH W IRgfa garg |

D.Y & Q3 916 T g Sal & |

E. X & 3 91 W HI[d &l § |

i iU U fdeedl | I Ugl 3R &l 944 il -
(1) c3ARETEIE

(2 D3RE

(3) ARBUEE

(4) Cc3ARDIEE

1[Option ID=45041]
2[Option ID=45042]
3[Option ID=45043]
4[Option ID=45044]

SlI. No.20
QBID:15550720

After walking for 6 k. Aradhana turns to the right and then walks 2 km. After that she turns to the left and walks 10 km. In the end.
Aradhana 1s moving towards the North. From which direction did Aradhana start her journey ?

(1) North

(2) South

(3) East

(4) West

6 Tl =re1 o a1g. SIRTeAT S1fe- gof 3R 2 frl =l | 39 918 98 a1 g3t 3R 10wl =efl | 3 T SR1eq1 SoR faxn & =
TGl g | SIRIEAT A 391 g [ [ 9 = @l of 2

(1) 3w
(2) fgm
(3) 94
(4) ufgg

1[Option ID=45049]
2[Option ID=45050]
3[Option ID=45051]
4[Option ID=45052]

Sl. No.21
QBID:15550721

In how many ways, a committee of 6 members be selected from 7 men and 5 women. consisting of 4 men and 2 women ?
(1) 200
(2) 250
(3) 350
(4) 450

7 Q=1 Ud 5 Higanel & ¥ ¢ e Wiifa &1 9u- fhas weR ¥ fovar 5w 8, o 4 gow ue 2 wfgant i g o




(1) 200
(2) 250
(3) 350
(4) 450
1[Option ID=45053]
2[Option ID=45054]

3[Option ID=45055]
4[Option ID=45056]

Sl. No.22
QBID:15550722

A cone and a sphere have equal radii and equal volumes. Find the ratio of the diameter of the sphere to the height of the cone?
(1) 1:4
(2) 1:2
(3) 4:1
4) 2:1

U X 3R U Tiicl &1 (A1 U9 Sd 99F § | o Tidl & o0 &1 XS B SHdls 4 U1 fasa-T 1T 2

(1) 14
(2) 1:2
3) 4:1
4) 2:1

1[Option ID=45057]
2[Option ID=45058]
3[Option ID=45059]
4[Option ID=45060]

Sl. No.23
QBID:15550723

A sum of money doubles itself at compound interest in 15 years. In how many years will it, become eight times ?
(1) 15 years
(2) 30 years
(3) 40 years

(4) 45 years

Bis YR T gl o8 B ax J 15 T8 B QN1 61 9l © | foa- as & I8 316 T[T 61 oI 2

1) 1599
@ 3079
(3) 40Ty
(4) 4579

1[Option ID=45061]
2[Option ID=45062]
3[Option ID=45063]
4[Option ID=45064]

Sl. No.24
QBID:15550724

What 1s the probability of getting a sum 9 from two throws of a dice ?

Ji=t

1)

—
[

(2)
(3)

(4)
oot U BT g1 SR Theb- I G 0 U B Bl Ui fhai & 2

1)

—
[ ]

(2)

O] .L-|>—-

(3)




4 1
6

1[Option ID=45065]
2[Option ID=45066]
3[Option ID=45067]
4[Option ID=45068]

Sl. No.25
QBID:15550725

If the equation 2x*+3x+ p =0 has equal roots, then the value of p is
(1) 7/8
(2) 1/8
(3) 89
(4) 9/8

G THHIN 222 4 3¢+ p—0 BT GAHE A &. dl p B1 HH fa1 81T 2

(1) 7/8
(2) 1/8
(3) &9
(4) 9/8
1[Option ID=45069]
2[Option ID=45070]

3[Option ID=45071]
4[Option ID=45072]

Sl. No.26
QBID:1304631

How many biodiversity hotspots are there in India?
1)
(2)
(3)
(4)
YR H oig-fafayar dewe (glewie) B
1)
(2)
(3)
(4)

[ L N SR V]

LV I S )

h

1[Option ID=44101]
2[Option ID=44102]
3[Option ID=44103]
4[Option ID=44104]

Sl. No.27
QBID:1304632

The range of environmental conditions and tolerance of a species in which they show its potential growth is called its :
(1) Ecophens

(2) Ecological succession

(3) Ecological amplitude

(4) Ecotypes

TS ollfa &t Te-siiear ok vafaroiin fRufa ot ¥ @ 3 oot afpa ofs e axd & 138 Fed © |
(1) AIRDT

(2) TIRFRUMS A

) gifufd® smm

(4) UIRgZY

1[Option ID=44145]
2[Option ID=44146]
3[Option ID=44147]
4[Option ID=44148]

Sl. No.28
QBID:1304633

Where and when was the joint forest management originated?

1)




Orissa (Sambalpur district), 1988
(2) West Bengal (West Midnapur district). 1980
(3) Madhya Pradesh (Thabna district), 1978
(4) Assam (Dima Haso district), 1972
TE G FaHE B TR=HT HEl 3R $a gg i 2
(1) IS (HaagR o). 1980
(2) 9% SIS (Ufgw ey (). 1080
(3) HHYS (AT foram). 1978
(4) 31YH (491 gl foTa). 1972

1[Option ID=44189]
2[Option ID=44190]
3[Option ID=44191]
4[Option ID=44192]

Sl. No.29
QBID:1304634

The dominant anion present in the river water is:

(1) HCO5™

(2) COz%~

(3) OH

(4) NO;*~

T & ST & SR TE-are Hee THEH Bl 2
(1) HCO;~

(2) CO4*~

(3) OH™

(4) NO;*~

1[Option ID=44233]
2[Option ID=44234]
3[Option ID=44235]
4[Option ID=44236]

Sl. No.30
QBID:1304635

The sky looks blue because of :

(1) Rayleigh scattering

(2) Mie scattering

(3) Diffraction

(4) Polorisation

fgifed & O fgs SR e At feurdt usarg »
(1) I GBI

@) fiyg yeiofA

(3) 3qad

(4) Hdul

1[Option ID=44277]
2[Option ID=44278]
3[Option ID=44279]
4[Option ID=44280]

Sl. No.31
QBID:1304636

The largest reservoir of freshwater on the earth is/are in the-
(1) Rivers. lakes

(2) Ice-sheets and glaciers

(3) Water vapour in atmosphere

(4) Soil water




g IR 1S 5 & Faioe g3 a8 3 fpad g e 8/ © |
(1) e e

2 fed - gd fene

(3) AMAERY & HIGG Searyg

(4) TEIH IURYd 5a

1[Option ID=44321]
2[Option ID=44322]
3[Option ID=44323]
4[Option ID=44324]

Sl. No.32
QBID:1304637

The doubling time of a bacterial cell is 90 minutes. If the division starts with two cells, how many bacterial cells will be present after one
day (consider no cell death)?

(1) 32.768 cells

(2) 65.536 cells

(3) 1.31.072 cells

(4) 2.62.144 cells

feft Stamo) it & fEuford €13 &1 wmg oo e € | afe fyuom &) 1R  URY 811 8. U {3 a1e e Sftam] sifkrem
faere= gl ( foreft ot SifRrept @1 oid i gan o S B)

(1) 32,768 (PIHY)
(2) 65,536 (BIDIY)
(3) 1.31.072 (DIRTHN)
(4) 2.62.144 (BB

1[Option ID=44365]
2[Option ID=44366]
3[Option ID=44367]
4[Option ID=44368]

Sl. No.33
QBID:1304638

The division of a chromatid into two daughter chromosomes is observed during which stage of mitosis?
(1) Prophase

(2) Metaphase

(3) Anaphase

(4) Telophase

TR @ BT a1 & gay fadt wiafes o1 oy <t Jafa 3ot & urr s e o
(1) Hith

(2) Hehe

(3) TS

(4) TIPS

1[Option ID=44393]
2[Option ID=44394]
3[Option ID=44395]
4[Option ID=44396]

Sl. No.34
QBID:1304639

'The random variation in allele frequency from generation to generation, often observed in small population’ is called-
(1) Genetic Engineering

(2) Translation
(3) Polymorphism

(4) Genetic Drift

[l TYATPR DI SFEE T SHFER Ui o ardl Uiel & UIgl ¥ gmfased] Sght I Uefese U Seardl s |
(1) it siftaifd ot




(2) THEIAS
(3) SgEUdl
(4) SER! fqRmH{EwE)

1[Option ID=44397]
2[Option ID=44398]
3[Option ID=44399]
4[Option ID=44400]

Sl. No.35
QBID:13046310

All the weather/meteorological processes take place in-

(1) Thermosphere

(2) Troposphere

(3) Stratosphere

(4) Mesosphere

/AR el @it v fg nusa A saw wfled et g 2
(1) qoEsd

@) &iyHed

(3) gHAGHSA

(4) HeHwd

1[Option ID=44105]
2[Option ID=44106]
3[Option ID=44107]
4[Option ID=44108]

Sl. No.36
QBID:13046311

In the troposphere. temperature................ with altitude while in stratosphere, temperature.......... with altitude.
(1) Increases. decreases

(2) decreases. increases

(3) Remains constant, increases

(4) Increases. remains constant

aHsa H, JaE & 9 d9H T . 2. Tafh GHAIHUST § AT & 91U a0 A v el
(1) dedl, Hcdl

(2) Ycdl degdl

(3) T 71 Tgal. ggdl

(4) ggdl, Haq a1 8dl

1[Option ID=44109]
2[Option ID=44110]
3[Option ID=44111]
4[Option ID=44112]

Sl. No.37
QBID:13046312

Richter scale is a/an scale to measure Earth Tremors.
(1) Exponential

(2) Logarithmic

(3) Geometric

(4) Physical

e T Y FT S AT Y TF ... GHMAIE |
(1) YTt

(2) ALDE

3) iy

@) ifge

1[Option ID=44113]
2[Option ID=44114]




3[Option ID=44115]
4[Option ID=44116]

Sl. No.38
QBID:13046313

More than 90% of the rock forming minerals in the Earth's crust consist of:
(1) Silicates

(2) Oxides

(3) Carbonates

(4) Sulphides and Sulphates

gedft BT Y.qdet F a1 FAforert @it 00% @ 3ifiw fPad sa gld R 2

(4) ePIgs UG b Hd

1[Option ID=44117]
2[Option ID=44118]
3[Option ID=44119]
4[Option ID=44120]
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Which form of soil water 1s most available to the plants?
(1) Hygroscopic water
(2) Capillary water

(3) Gravitational water
(4) Water vapour

T&1 §el &1 HIH-91 UHR Uyl oq Tl 3uas § 2

(1) EARTR! o
(2) PIfRBI oA
(3) Tocd e

(4) Seary
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2[Option ID=44122]
3[Option ID=44123]
4[Option ID=44124]
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In India, the temperate forest are most commonly found in
(1) Himalayan mountainous region

(2) Ganga-Yamuna basin

(3) Deccan plateau region

(4) Coastal areas

YR H A & FRT=aaaT 69 &= o url Sl & 2
() fEHTT vddi &

(2) T-gHA S

(3) 3&H1UR &4

(4) iy &=

1[Option ID=44125]
2[Option ID=44126]
3[Option ID=44127]
4[Option ID=44128]
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Who coined the term "Ecosystem'. and In which year?
(1) Karl Mobinn, 1930




(2) S. A Forbes. 1887

(3) A. G. Tansley. 1935

(4) Vimadsky, 1944

RIS = 1 Tad ued forg qu o1 3 oy | wed foan 2
(1) HId Aif§TH, 1900

(2) U UBIEY. 1887

(3) UGl M. 1937

(4) TSI, 1044

1[Option ID=44129]
2[Option ID=44130]
3[Option ID=44131]
4[Option ID=44132]
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Which disease is caused by a nematode?

(1) Amoebiasis

(2) Filariasis

(3) Poliomyelitis

(4) Leprosy

70 BH-I1 I FH1E1S S DRUEIA & 2
OB SIED

) HrEERar

(3) iferar Fe3s2Yy

(4) PEI

1[Option ID=44133]
2[Option ID=44134]
3[Option ID=44135]
4[Option ID=44136]
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The most commonly used bacteria for gene cloning is
(1) Micrococcus

(2) Nitrosomonas

(3) E. coli

(4) Salmonella typhii

Sfi SR 8 SAHHR U J Ygad g1- dTal Sian] § -
(1) HEHIHIHT

(2) TECHHA™

(3) 5. Dl

(4) greEal eyl

1[Option ID=44137]
2[Option ID=44138]
3[Option ID=44139]
4[Option ID=44140]
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The increase in concentration of toxic chemical substances in the tissue of organisms at successively higher trophic levels in a food chain
is refered as-

(1) Biological magnification

(2) Denitrification

(3) Bioaugmentation

(4) Bioremediation

foreit W 4Ea § SRR S=a) UMNUH Wikl 0 Sid & 3d@ 4 [a81ad I ddl & 9igu § g su wu 8 sfufRa sl g 2
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1[Option ID=44141]
2[Option ID=44142]

3[Option ID=44143]
4[Option ID=44144]
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Which of the potential area is included in the UNESCO world heritage site?
(1) Keibul Lamjao National Park

(2) Intanki National Park
(3) Kaziranga Nationa Park

(4) Dehing Patkai National Park

5 A B 1 WRed 87 gl & 3y fima wa d e g 2
(1) D AH SIS AT Urh

(2) TETI AP U

(3) BTSN ALY YT

@) SfET geHIs AP Ul

1[Option ID=44149]
2[Option ID=44150]
3[Option ID=44151]
4[Option ID=44152]
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"Human influence has warmed the climate at a rate that 1s unprecedented in at least the last 2000 years." This inference/statement is from-
(1) IPCC ARG6: Climate Change 2021

(2) COP-2015 meet in Paris

(3) Montreal Protocol

(4) Kyoto Protocol

"HFd YHId &1 dols 4 Saarg s 2000 T91 H 3 YN G2 W ITH gafl g 1" U8 UHa/Py [&ad 3gyd g 2
(1) 373 Ut ¥t T T U 6: Ferarg uRkadd 2021

) ufy ¥ $iu-2015 FifAfd

(3) HIUCTd Hicild

(4) gl gicidid

1[Option ID=44153]
2[Option ID=44154]
3[Option ID=44155]
4[Option ID=44156]
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Which source has the highest installed power generation capacity (MW) in India.
(1) Thermal Power

(2) Hydro Power

(3) Nuclear Power

(4) Renewable Energy

YR & 54 wld § aife it 39 S &@dl (@male) urft St 8 2
(1) it 3

(2) Sefdgygd Il
3) Tifirwig It

(4)
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2[Option ID=44158]
3[Option ID=44159]
4[Option ID=44160]
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BOD (Biochemical Oxygen Demand) i1s used for the measurement of:
(1) Atmospheric Pollution

(2) Thermal Pollution
(3) Nuclear Pollution
(4) Sewage Pollution

af 31l St (Sl T SHieiie 0i) 370 3 forge A9 8 Wgad & Sl & 2
(1) AraraRuig ggyu

(2) drdig wguo

(3) MBI Ugul

(4) HTO[T HeHUT

1[Option ID=44161]
2[Option ID=44162]
3[Option ID=44163]
4[Option ID=44164]
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Which of the following instrumental technique can be used for the analysis of CO (Carbon Monoxide).
(1) X-Ray Fluorescence

(2) Non-Dispersive Infrared Spectromentry

(3) Atomic Absorption Spectrophotometry

(4) Chemiluminescence

co & fazaym gg Fufafad & 9 -0 Suszo ufefd @@-ie) we 8l 9odi 8 2
(1) Tay-3 yiddifa

) TR - [TRUSR! siaxad Wage!

(3) WRYUEH, HTYHU] e T

(4) TSI

1[Option ID=44165]
2[Option ID=44166]
3[Option ID=44167]
4[Option ID=44168]
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1s a technique that separates a mixture of molecules by their differential migration through a stationary medium under the
influence of an electrical field.
(1) Epigenesis
(2) Electrophoresis
(3) Chromotography

(4) Blotting

foreit fagga &7 & UH1a & SFia fohail U (FCRR) T & AT H 370 [qUaPRI RIFaR0 gR1 SU[3f & oot iy &1
G ATl db-1P © -

1[Option ID=44169]
2[Option ID=44170]




3[Option ID=44171]
4[Option ID=44172]
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'The decrease in intensity of light passing through a solution is directly proportional to the path length'- the statement is given by-

(1) Lambert's Law
(2) Raoult's Law
(3) Beer's Law
(4) Dalton's Law

DI ST I Tord §U TP B diaar & Sl Trf 3t dars & JH=ad ekl & 98 Hy= Fe i g feaa g 2
() trge &1y

) e BT e

() diR &1 Fam

(4) Slec & fFaq

1[Option ID=44173]
2[Option ID=44174]
3[Option ID=44175]
4[Option ID=44176]
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The 'Central dogma' of molecular biology is referred to as-

(1) Transfer of information from DNA to RNA
(2) Transfer of information from DNA to protein directly

(3) Transfer of information from protein to DNA directly

(4) Transfer of information from DNA to protein via RNA

3f1foae it fag (@TdieeR STt & Gugd SFAT 59 =9 § Jafa 3 :
(1) 1T T AR T U dH 1 BT RIHIRU]

(2) SITH Y I BT UICH H g RIFaRul

(3) WIEH 8 FIH1 1 31 T U T Wl Rl

(4) SIT T I 3R T Y HIEH H R0

1[Option ID=44177]
2[Option ID=44178]
3[Option ID=44179]
4[Option ID=44180]
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Thunderstorms are typically formed in the following type of cloud.
(1) Cirrus

(2) Stratus

(3) Cumulus

(4) Cumulonimbus

ST g AP I Tea d a1 8ld 8 2
(1) IERA

2 ¥y

(3) FEHTH

(4) T

1[Option ID=44181]
2[Option ID=44182]
3[Option ID=44183]
4[Option ID=44184]
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What 1s tropopause height in the equatorial regions and in the high latitude regions:
(1) ~ 18 kms and ~ 10 kms
(2) ~ 10 kms and ~ 18 kms




(3) ~12kms and ~ 12 kms
(4) ~ 8 kms and ~ 18 kms

yre] & H 3R Hem=iig &3 § Surdisl &1 3918 a1 sidl © 2
(1) 18 ot 3R - 10 fooeit

(2 10 ot 3R - 18 foprft

(3) 12 foredt ofiR 12 foarht

(@) g foprft 3iR 18 faedt

1[Option ID=44185]
2[Option ID=44186]
3[Option ID=44187]
4[Option ID=44188]
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The thickness of Ozone layer 1s measured in which of the following units?
(1) Meters

(2) Centimeters

(3) Dobson Units

(4) Decibel Units

IS IRd &} HieTs Hafargd 5 4 ®H 3 A5® & A9 ol 6 2
1) e

(2) TR

(3) Sleq HHD

(4) SRedaE®

1[Option ID=44193]
2[Option ID=44194]
3[Option ID=44195]
4[Option ID=44196]
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Suppose global fossil fuel combustion emits 7.4 Gt C/yr and cement production adds another 0.5 Gt C/yr while land-use emissions add 2.2
Gt C/yr. Assume an airborne fraction of 0.38 (i.e.. 0.38 Gt C out of 1 Gt C gets converted into CO,). What is rate of change in CO,

concentration in ppm/yr. (1 ppm CO, =2.12 Gt C).
(1) 1.2 ppm CO,/yr

(2) 1.8 ppm CO,/yr

(3) 2.4 ppm CO,/yr

(4) 3 ppm CO,/yr

a1 o offye SiaT=E 587 &1 88 7.4 Gt Clyr ScTiord &dl § | R 3®E 0.5 Gt C/yr TEIAT1 § | afd YESTIN 3o 2.2
Gt C/yr Sgrdl © | A & 0.38 BT aRIIfs o g L@%DSSGH}thCﬁ@COaﬁUﬁﬂﬁHW%lCOqWﬁqﬁﬁ?ﬁaﬁ

UYL ppmy/yr TS | (1 ppm CO,=2.12 Gt C)
(1) 1.2 ppm COy/yr

(2) 1.8 ppm COy/yr
(3) 2.4 ppm CO,/yr
(4) 3 ppm CO,/yr
1[Option ID=44197]
2[Option ID=44198]

3[Option ID=44199]
4[Option ID=44200]
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Which element controls the heartbeat in humans?
(1) Sodium

(2) Sulphur

(3) Potassium

(4) Iron
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1[Option ID=44201]
2[Option ID=44202]
3[Option ID=44203]
4[Option ID=44204]
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The introduction of phage hybrid DNA into the host cell is called-
(1) Transformation

(2) Translation

(3) Transfection

(4) Inoculation

faa st T DNA &7 URGid! I & Hae SEar g |

(1) U]

(2) R0

(3) ¢l

(4) TTHT AT

1[Option ID=44205]
2[Option ID=44206]
3[Option ID=44207]
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The extracellular protein produced by mycorrhizal fungi that helps in stabilizing soil aggregate structure and decrease soil erosion is
called-

(1) Guanine

(2) Glomalin

(3) Nodulins

(4) Cytosine

DI S1-I W ol HadHd gRI §41H §ld § SR J&T 9w IRF-] 1 R $d § aul Gal fUReH &l &8 Hd o Hearad 4
RIS

(1) Tqr=H

) TemfeE

3) Tregfer

(4) e

1[Option ID=44209]
2[Option ID=44210]
3[Option ID=44211]
4[Option ID=44212]
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The ability of a single genotype to generate more then one phenotype. depending on environmental conditions is called-
(1) Genotypic Plasticity

(2) Phenotypic Plasticity

(3) Polyphenism

(4) Genetic drift

qaiaeuiiy S & SR FHuR (G U oived &1 U@ U SaT1el A& U= §-1 &1 &Hdl & Heiaiad § 4 ®T $ed g 2

(1) SAU=U @Rl
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(3) giEsE
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2[Option ID=44214]

3[Option ID=44215]
4[Option ID=44216]
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Which of the following is an invasive species in India?

(1) Prosopis cineraria

(2) Lantana camara

(3) Tectona grandis

(4) Dalbergia sissoo

fgfafad § ¥ o O YR § s (gHafa) uenfd 8 2
)y Rt

(2) e HERI
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ORCREIE R

1[Option ID=44217]
2[Option ID=44218]
3[Option ID=44219]
4[Option ID=44220]
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Shola grasslands are commonly found in-
(1) Western Himalayas

(2) Eastern Himalayas

(3) Aravalli ranges

(4) Western ghats

QI U FIHIC: $e! 9IY Sl § 2
) ofget feATe

) gdf fearem

(3) 3RITTl g@a

(4) gigigre

1[Option ID=44221]
2[Option ID=44222]
3[Option ID=44223]
4[Option ID=44224]
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In a forest extinction of tiger, results in increased population of dear. Overgrazing by dear decreases the density and diversity of plant
species. A number of native birds and insects also get exinet due to extinction of their food source. In this forest tiger in an example of-

(1) Flagship species

(2) Umbrella species

(3) Indicator species

(4) Keystone species

fopaft Sivrer o TR (@) & fadin 9§ vl & Sere 9¢ Wil & | vl g1 AfaeRr § urey wfaal ot waear iR fafoua &9
BIOl § 1 15 & fage 8 9 95d 9 Ia uelt ok @i i fagqd 81 91d § | 59 UPR & SiTd B 2SR (@18) Saeu § |

(1) TRHTIAY FoiTfel

(2) 3SRl ol

(3) SoiPhe Yallld

(4) PRI FSillel

1[Option ID=44225]
2[Option ID=44226]




3[Option ID=44227]
4[Option ID=44228]
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Which of the following pollution cause largest number of deaths worldwide?
(1) Air Pollition

(2) Water Pollution

(3) Industrial Pollution

(4) Soil Pollution

AR & 9 &F S Ughu & SRl 9y T 999 % g gl 8 2
(1) digHGHIT

(2) Sfd HgHUT

(3) SHTE T
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2[Option ID=44230]
3[Option ID=44231]
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You visit a garden and see a number of flowering plants. grasses, trees ete. You also see many birds. insects. reptiles ete. This whole
system 1s an example of:

(1) Species

(2) Population

(3) Community

(4) Biosphere reserve

319 Ueh S b1 WHU D ¢ IR 4@d ¢ agd U B ald 1Y, 919, US glis &Y d9ga 4l =Sl sle. sgy sane W gEd ¢ |
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1[Option ID=44237]
2[Option ID=44238]
3[Option ID=44239]
4[Option ID=44240]
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Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: We, as global citizen. need to protect Antarctic glaciers and ice-caps.

Reason R: If Antarctic glaciers/ice-caps melt completely. the sea-level rise would be so high that most of the continents would be
submerged.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A

(3) Ais true but R is false
(4) Ais false but R is ture

TS FYRUME : UF HUSYUT (Assertion A ) F U T fAfGd g d SIRT 39S BRI (Reason R) P =Y T
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1[Option ID=44241]

2[Option ID=44242]

3[Option ID=44243]
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Photochemical smog is a primary Air Pollutant.

Reason R: It is formed in Traffic congested cities where the conditions are warm and intensity of solar radiation is more.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

%ﬁmﬁ[{m%U_ﬂ“-'_3[&-@'11:[{Asserric-nA)%Wﬁﬁi@ﬂ%ﬁmmm(ReasonR)agﬂ@qﬁ:
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1[Option ID=44245]
2[Option ID=44246]
3[Option ID=44247]
4[Option ID=44248]
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: OH radical plays a critical role in tropospheric chemistry of formation and destruction of O,

Reason R: Because OH is rapidly transformed to HO, by reacting with CO or VOCs. HO,. in turn. reacts with NO and provides NO,.
NO, photolyses into Oy in the presence of sunlight.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) Ais correct but R 1s not correct
(4) A is not correct but R is correct

T4 I YA AU MU § U S1fUGHYT (Assertion A T =9 H fIfEd § I THRI 3HD] HRUI (Reason R) F &I T,
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1[Option ID=44249]
2[Option ID=44250]
3[Option ID=44251]
4[Option ID=44252]
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Given below are two statements:

Statement I: In a river stream, there is continuous discharge of sewage at a particular point/location only. As a result of sewage mixing
with stream the dissolved oxygen is stream decreases.

Statement IT: The maximum deficit of dissolved oxygen does not oceur at the mixing point of stream and sewage but at a certain distance
from the mixing point in the down stream direction.

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II 1s true

Taapyfeume:
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2[Option ID=44254]
3[Option ID=44255]
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Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Denitrification is an undesirable process from agricultural point of view.
Reason R: Here the nitrate present in soil 13 converted to nitrogen gas and it is lost to the atmosphere.

In the light of the above statements. choose the correct answer from the options given below:
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) Ais true but R is false
(4) A is false but R 1s true

ﬁﬁmﬁqwg:Waiﬁ-lﬁ?l:f[AssertionA}%Wﬁ%@ﬂ%ﬁ@ﬂmm(ReasonRjﬁmﬁ:
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3[Option ID=44259]
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Polar jet stream flows from west to east.

Reason R: Polar jet stream is a geostrophic wind which flows due to the balance between coriolis force & pressure gradient foree.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) Ais true but R is false
(4) A is false but R 1s true

:ﬂaamﬁﬂwg:Waiﬁ-lﬁ?l:f[AssertionA}%Wﬁ%@ﬂ%ﬁ@ﬂmm(ReasonRjﬁmﬁ:
A - 3T e T () O & R A o SR AR g |
R : AT Sic YRT TP a8t arg § &l & Sife o a0 3R 316 Haeaed & 08 Yga- & R Haled ol o

JSWRITd HYH & ATdS 1, -l S0 77U fawedi § 9§ Jel Sk &l 994 Difeiw
(1) AJRREA GUE IR R, AT TEI TR &

(2) A SRR I dlfde R. A B Uol oIRE ol &

() ATTE. AfP-R 3T S

(4) AR APTRIAS

1[Option ID=44261]

2[Option ID=44262]
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Air pollution and elimate change are not related.
Reason R: Climate change such as global warming is mainly caused by increasing concentration of green house gases such as CO,. CO,

gas is not considered as air pollutant.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

:ﬂ%@fmﬁqw% : Waiﬁ-lﬁ?ﬂ [AssertiouA}%Wﬁ%@ﬂ%ﬁ@ﬂmm(&eason R)%Wﬁ:

SHIHYA A - GG UGN SR Serarg 9Racd U gen J Jelid 1e1 g |

R : oA IRad- ot G arae geraa sRave 1R O o, & §3d §UIF|U S SRUEIAI § | CO, T &1 aR] WguuT el
T ACIS |

IR PYH & el 1, -4 fGU U f[ddbedi © I Hel 3R &1 99+ BT

(1) ARREA TG AR R AT TSl TTET & |

) ASRRIA TAE. APTR AT TSI BT TR § |

(3) AT e, APTR 3T

4 ATTE. AFTRITS

1[Option ID=44265]
2[Option ID=44266]
3[Option ID=44267]
4[Option ID=44268]




Sl. No.73
QBID:13046348

Arrange the phases of microbial growth curve from initiation to termination.

A. Stationary phase
B. Exponential phase
C. Death phase

D. Lag phase

Choose the correct answer from the options given below:
1) A.D.B.C
2) DA.B.C
3) AB.D.C
(4) D.B.AC

& SiaT] (AEsifaad) afS b B SRS B SRY I od B iR & o1 § Fafyd I |

A RRI® WOt sawn
B. TRYTTTSH! TaUHRET 3@

cg;gm@ﬁ

D. T [T

=t fqu e fe@el § 1 U8l TR &1 994 Siig ;
1) A.D.B.C

2) D.A.B.C

3) AB.D.C
4) D.B.AC

1[Option ID=44269]
2[Option ID=44270]
3[Option ID=44271]
4[Option ID=44272]

Sl. No.74
QBID:13046349

Write a waste management hierarchy from source to disposal from the given solid waste management practices.

A. Recycle
B. Treat

C. Avoid

D. Dispose
E. Minimize

Choose the correct answer from the options given below:
1) C.E.A.B.D
2) EEA.B.C.D
3) C.D.E.A.B
(4) B.E.D.CA

U T S SRy yaeH fovan sl & id 9 MR dd SOy YaeH Ugrsd &1 gy |

A TEH
B. Joudglid &<l
C.dd-l
D. [ H%1Rd B
E. @H DAl

(1) C.E.A.B.D

) E.A.B.C.D

3) C.D.E.A.B

(4) B.E.D.CA

1[Option ID=44273]
2[Option ID=44274]
3[Option ID=44275]
4[Option ID=44276]




Sl. No.75
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Arrange the following soil horizons from top layer of soil to the increasing depth below.

A. 'O horizons
B. 'B' horizons
C.'C' horizons
D.'A' horizons
E. 'R’ horizons
Choose the correct answer from the options given below:
1) A.C.B.D.E
2) AAD.B.C.E
3) AB.C.D.E
4) B.C.D.A.E

faiferd HaT SR 31 gal & S8l 9as ¥ | 1 31 3R 981 55 ol @ kP, ©H 1 ogaiieyd S |

'O HEY
'B' I&R
'CHER
A TER
VR OER
(1) A.C.B.D.E
2) AAD.B.C.E
3) AB.C.D.E
(4) B.C.D.A.E

mYowp

1[Option ID=44281]
2[Option ID=44282]
3[Option ID=44283]
4[Option ID=44284]

Sl. No.76
QBID:13046351

Arrange the following layers of atmosphere in the sequence of increasing altitude from the earth's surface.

A. Planetary Boundary layer
B. Free troposphere

C. Tropopaus

D. Mesosphere

E. Stratosphere

Choose the correct answer from the options given below:
(1) B.C.D.E.A
2) AAB.C.D.E
3) A.B.C.E.D
(4) B.C.E.D.A

gedl &1 g | UGTdRUl SI URell Bl Gidl &b ged gU o H ogRyd BT |
A. HAUS T YT Hdg

B. WA &lTHHUST
C. &Y AUsa
D. HHUST
E. HHgYHUS
(1) B.C.D.E.A
2) AAB.C.D.E
3) A.B.C.E.D
(4) B.C.E.D.A

1[Option ID=44285]
2[Option ID=44286]




3[Option ID=44287]
4[Option ID=44288]

Sl. No.77
QBID:13046352

Arrange the following layers of the earth starting from the centre of the earth till surface of the earth.

A Lithosphere

B. Inner Core

C. Mantle

D. Outer Core

E. Aesthenosphere

Choose the correct answer from the options given below:
(1) AB.C.D.E
2 B.D.C.E.A
3) B.E.C.D.A
(4) B.E.D.C.A

FrafeiiRad gl ©1 Rd 1 gl & &= 4 Yl B Jae do Faireyd S |

A T HUSA

B. 3R B

c. T=d

D. ¥[8 ®R

E. URUHRGIR
(1) AB.C.D.E
2 B.D.C.E. A
3) B.E.C.D.A
(4) B.E.D.C.A
1[Option ID=44289]
2[Option ID=44290]

3[Option ID=44291]
4[Option ID=44292]

Sl. No.78
QBID:13046353

Arrange the following in progressing order of carcinogenesis.

A. Promotion

B. Metastasis

C. Progression

D. Initiation

E. Transformation

Choose the correct answer from the options given below:
(1) AD.C.E.B
2) EED.A.C.B
3) D.E.C.A.B
(4) DDA E.C.B

HIRGHIHRUN &b Wfd & HHEfdRad BH B ogaiedd dife |

A U=l
B. g9y
C. WiIfd
D. ARBHA
E. &UicR0

= feu U fooedl © 3§ 96 IR &1 994 Siuig -
1) AD.C.E.B
2 EED.A.C.B
3) D.E.C.A.B
4) DA.E.C.B




1[Option ID=44293]
2[Option ID=44294]
3[Option ID=44295]
4[Option ID=44296]

Sl. No.79
QBID:13046354

Being scientist, you are to solve an environments problem. Arrange the steps of seientific method in the correct sequence to address the
issue,

A Develop a hypothesis to explain the problem

B. Share new knowledge by publishing article or presenting in meetings
C. Analyse and interpret the data to reach a conclusion.

D. Recognition of an unexplained environmental problem

E. Design and perform experiments to explain the problem

Choose the correct answer from the options given below:
1) ADECB
(2) D.B.E.C.A
3) ADECBE
(4) DAE.C.B

AT9 U A1 § SR D! Giaeul & Hafid s Soe oo & | U 78 o ==oll & 9e! UshH § @y 903 a3 &
ferg

A, JHTT %] WPEHI B4 & (00 IREG e g4 T |
B. TTdI ] §1cHT, T UDIRId Bds a1 GHISH H UEjd o
C. AHS! BT faTawur 3R SOrRa ol sy fHdraHr
D. 3¥ YUia0] Seidd I & ggdr-]
E. O & WY B0 & (60 WP P T03GT ST 3R YTRT ST
1) AAD.E.C.B
(2) D.B.E.C.A
3) AD.E.C.B
(4) DDA E.C.B

1[Option ID=44297]
2[Option ID=44298]
3[Option ID=44299]
4[Option ID=44300]

Sl. No.80
QBID:13046355

Given below are two statements:
Statement I: Ocean is not considered to be an important carbon reservoir in the Earth system.

Statement II: CO, residence time in ocean is higher than atmosphere.

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement IT is false
(4) Statement I is false but Statement IT is true

DY 1 : HERITR &1 gedi o § U Hgdqul e MR s (RealR) OFT S g |

HYA 11 : HENIFR H aRIH0Sd &1 Ja1 § Sla-sls HagIss Hag @l 3= 8 |
(1) HU1 R 11 S Fd Q

(2) Y1 IR 11 SHT ST

(3) HYF1 I §. b B I A §

(4) HYFI 3T &. A= PUA I T §

1[Option ID=44301]
2[Option ID=44302]




3[Option ID=44303]
4[Option ID=44304]

Sl. No.81
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Griven below are two statements:

Statement I: In the process of respiration. organic compounds undergo degradation (Catabolism) in the presence of molecular oxygen or in
absence of oxygen. The process releases energy.

Statement IT: Similar amount of energy 1s produced in both aerobic and anaerobic respiration.

In the light of the above statements. choose the correct answer from the option given below.

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement IT is true

B TICACARI S

DY 1 YT Tleha1 T 3O ffeiier Bt Jufkufa sruar sfieiieH o1 srufufa & Srdfe Gl &1 &1 Iu=aH 81a1 81 58 Uida
o 3o Fgd g g |

U 11 : SR SR SFTRIST 1 &1 FRufa & Soif &1 99 9 Soa gt § |

(1) HYFI AR IS A8

) PYTIARIEA ATH e

(@) FYTITT L. AT HYT 11 3T ©

4 FUHIIAL. AT S I T T

1[Option ID=44305]
2[Option ID=44306]
3[Option ID=44307]
4[Option ID=44308]

Sl. No.82
QBID:13046357

Given below are two statements:

Statement I: Ecological natality (fertility rate) refers to the number of offsprings produced under prevailing set of environmental
conditions.

Statement IT: Absolute natality (fecundity rate) is the number of offsprings produced under ideal environmental conditions.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true

EIEEICAIEACAR
Hu 1 - IR Bt e &1 onf § Tafavolia genell &1 yafed craw & ST Ul g5 Sl @ 3 |

HUA I : FRUE TR H1ex! gaiaRuiig g=mei & s Ual g8 Sdil &l e ¢ |
) FYFIAR DA TA

(2 FYF1AR I AT

@) FFEITI e, APTFF I TAE

(4) U A ¢, A FUT 11 ST §

1[Option ID=44309]
2[Option ID=44310]
3[Option ID=44311]
4[Option ID=44312]

Sl. No.83
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Given below are two statements:
Statement I: In a sewage treatment plant. secondary treatment primarily aims at removing phosphates and nitrates from the sewage water.

Statement II: The number and diversity of microorganisms in sewage help in easy removal of phosphate and nitrate during secondary
treatment.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II 1s true

TR ey
PYA1 : 4 od e Ha3 1 (5199 SUIR &1 UHE 3539 BRGe AR A1gee B diigddd ofd 9 T S 6 |
P 11 - GGl Bt T iR fafaedr suRt fdios SU=aR & 90y 3Ol ¥ Bepe 3R A15¢e B el $H- T Had Pl ¢ |

JWRIE HYH & ATdS 1, -iId S0 770 fabedi § 9§ Jel SR Bl 994 Difolt
) FYFIAR IS Td §

2) BYF1 AR 11T A T

(3) HUYT1 A 2. AT B 11 3T §

(4) HYFT1 T . AP P I I S

1[Option ID=44313]
2[Option ID=44314]
3[Option ID=44315]
4[Option ID=44316]

Sl. No.84
QBID:13046359

Given below are two statements:
Statement I: In terrestrial ecosystem (grasslands. croplands, forests) the pyramid of biomass is inverted.
Statement II: In aquatic ecosystem (Pounds, lakes, rivers ete.) the pyramid of biomass is upright.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true

FYA 1 : g aRfRfG &t 33 EmufiE?, saaufial, o) § sedsia @@e) 1 IRis Jgebid gidae |

FUF 11 : TTeny IR S 9 (dardl, Sial, Fiedl sanfs) § sladsfa @) &1 fikifis Safu giarg |
) FYFI1AR DA TA 8

(2 FYF1AR A AT

(3) FYTI A &, AP YT 11 3T ©

(4) U A ¢, A YT 11 TA &

1[Option ID=44317]
2[Option ID=44318]
3[Option ID=44319]
4[Option ID=44320]

Sl. No.85
QBID:13046360




Given below are two statements:
Statement I: The phenomenon of having increased species diversity and densities in ecotonal region is called the edge effect.
Statement II: The transition zone between two different ecosystem is called ecotone.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true

FYA 1 : G &3 § vefa fdager ok g9@ ¥ g &1 akee 1 &1 SR Yu9Ta (T 55hde) Fed & |
FYA 11 - 31 e oTRfRua® 93 & a9 a0 83 &1 GHHE SHicH) Fed e |

IR PUH & @D 1, 14 iU 70 [depedi § 1 O8] S & 994 $ifo
(1) HYTI AR IS A8

() HUTI AR AT AFTH S

(3) HUT1 A 2. AT S 11 3T &

(4) T ST C. AP FUTI TT ©

1[Option ID=44325]
2[Option ID=44326]
3[Option ID=44327]
4[Option ID=44328]

Sl. No.86
QBID:13046361

Given below are two statements:

Statement I: Net primary production (NPP) is the remaining chemical energy available after respiration and other metabolic activities and
used in body building of heterotrophic organisms.

Statement II: The chemical energy from NPP is used in the body building of autotrophic organisms.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true

FY 1 : IS WU IORHAHEA SR o= Jurg=di nfafafiai & 1% Iuded Ay IAHE Ioil ¢ SR [qumi sfidl & TR
frmfor & Sua fear oar € |
DY : s WU STl A W A0 3ol wursl sital & YRR Fafor d e sidl § |

TIRIEI HYT & el W, =i U Y fadedi T I TEl IR &1 94 DIl :
(1) HYFI AR IS A8

() HUTI AR AT AFTH S

() FYTITT L. AT HYT 11 3T ©

(4) HUT] T ¢, Wb U LTI €

1[Option ID=44329]
2[Option ID=44330]
3[Option ID=44331]
4[Option ID=44332]

Sl. No.87
QBID:13046362




Herbivores occupy the

A. First trophic level (T,)
B. Second trophic level (T,)
C. Consumer of first order (C;)

D. Consumer of second order (C,)
E. Third trophic level (T5)

Choose the correct answer from the options given below:
(1) AandD only
(2) Band C only
(3) E only
(4) Aonly
PRI H e fﬁ?ﬂ% :
A. UYH UINUS R (T,)
B. fgdiig 9I9uR %R (T,)
C. YU T BT SUHIHIT (C,)

D. fgdiia o &1 FUHIKT (C,)
E. Jdid 9Ivurel &R (T;)

i feu U fadbetl & 9§ 9l 90 &1 99+ DIl :
(1) &ad A 3D

(2 FHaaB AR C

(3) FATE

(4) Had A

1[Option ID=44333]
2[Option ID=44334]
3[Option ID=44335]
4[Option ID=44336]

Sl. No.88
QBID:13046363

The structural component of ecosystem consist of

A. Biological community
B. Flow of energy

C. Nutrient cycling

D. Range of climatic factor
E. Biological regulation

Choose the correct answer from the options given below:
(1) B.CandE only
(2) AandD only
(3) B and C only
(4) E only
URdd & TREH® Ucd 594 Fffaside?
A, Sifde FHe™
B. 391 & WAI8
C. UINe 5hUl
D. Sddrgfde &1 U &1 IR
E. Wifdes ame
i iU U fderedl | I gl 3R &l 944 iy -
(1) HauB, C IRE
(2) Pad A 3R D




G) HFEaB AR C
(4) FIAE

1[Option ID=44337]
2[Option ID=44338]
3[Option ID=44339]
4[Option ID=44340]

Sl. No.89
QBID:13046364

Which of the following are products of complete mineralisation of organic compounds.

A H,S
B. CO,
C.CH,
D.H,0
E. NH;

Choose the correct answer from the options given below:
(1) CandE only
(2) BandD only
(3) Aand C only
(4) CandD only

H A D I FEfHS oo gof irRaseeH $ 3R © |
419 ldu U fae el O 9 Hed IUgad 9Tk &1 99 Hifoll -

A H,S
B. CO,
C.CH,
D.H,0
E.NH;
(1) HFAC IRE
(2) HEAB IR D
(3) FaAA AR C
(4) Had C 3R D

1[Option ID=44341]
2[Option ID=44342]
3[Option ID=44343]
4[Option ID=44344]

Sl. No.90
QBID:13046365

Choose the correct statement:

A.TUCN is now known as WWF

B. Chilka lake was recognised as Ramsar site in India in the year 1981
C. Corbett National Park is located at Uttar Pradesh.

D. Gorilla 1s the only ape found in India

E. Asian Elephant is an endangered species

Choose the correct answer from the options given below:
(1) A& Conly

(2) B&Eonly

(3) Donly

(4) A&Eonly




el HYF DI Y :

A. 38 T U 3@ STy ST TP & FUH TAT AT |

B. [RId®T 3 &1 YR H 1081 & 9 H IHIR WG & =0 J JT {HdT |
C. BIaC YT T ITRUS H afud ¢ |

D. Tif¥ew YRd H Uil §F aTdl U6 HE S ¢ |

E. TS el Iomeraw 9oft & enfiar 8 |

(1) Fad A AR C
(2) HadAB 3IRE
(3) HadD

(9) PHad AANRE

1[Option ID=44345]
2[Option ID=44346]
3[Option ID=44347]
4[Option ID=44348]

Sl. No.91
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Choose the correct statement:

A. Lake 1s an example of lotic water body

B. 2.1% of the volume of fresh water 1s available for human use in the hydrosphere

C. Indus water treaty lies between India & Pakistan.

D. Dams are responsible for world water crisis

E. The dispute of sharing the Ravi-Beas water and Sutluj-Yamuna link issue lies between Punjab & Haryana

Choose the correct answer from the options given below:
(1) E only

(2) Conly

(3) A& B only

(4) C &E only

el HY &I UgdlHU |

A. e gid ofd e &1 7 380§ |

B. A6l UTHT &7 2.1% 3T0d- SaHUSd H ATd S94HT & o Sua=I giarg |
C.TeYTa g s iR Ufsam S S T |

D. S f% oid T®e & fiu IR § |

E. 41 00T Se 31R Feierol I e & WisigR 1 3rTe] Uold SR sRamn & &9 ¢ |

il fau 71U [ el § ¥ 98l SR &1 99 Bifol :
(1) HadE

(2) Had ¢

(3) Had A 3B

(9) FHadaC ARE

1[Option ID=44349]
2[Option ID=44350]
3[Option ID=44351]
4[Option ID=44352]

Sl. No.92
QBID:13046367

What are pneumatophores?

A. Respiratory roots of plants growing in marshy places and salt lakes.

B. Hanging roots surrounded by spongy tissue.

C. Roots that grow vertically upward like conical spikes with numerous pores.
D. Cluster of roots arising at the base of the stem.

E. Roots produced from the main stem and often from the branches.

Choose the correct answer from the options given below:
(1) D andE only




(2) B and E only
(3) Donly
(4) Aand C only

- TS 2

A UTGYI & 49 Od S5 I a1 dauitg giidil @ 990d .

B. fddl oo ©el 30 Y AR @ 8.

c. Ul g ol o aier SR &1 &k oud! § Ud 599 S W0 & WY WP WISd il TR 511 6.
D. ol &1 T W3 & STYR TR 37 8ld ¢

E. IS (43 §&A WY 4 3G9 Bldl & SR UIg: raredl § 3ed gidl o |

(1) Had D dUIE
(2) HadBTYTE
(3) HaED

(4) BAGATUIC

1[Option ID=44353]
2[Option ID=44354]
3[Option ID=44355]
4[Option ID=44356]

Sl. No.93
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Consider the following statements about the hydrothermal vents.

A. The sea water has been heated by the radioactive rocks below.

B. Ample light in available for photosynthesis.

C. Support rich ecosystem in contrast to the surrounding desert at the deep ocean floor.
D. Bacteria function as producers in these ecosystems.

E. Tube worms. shrimp. crabs, clams ete. are found in hydrothermal vents.

Choose the correct answer from the options given below:
(1) AandC

(2) A.BandC

3) A.C.D.E

(4) Aand B

fFrafefad & 3 Swrsiy e 3 Feftd ou- o1 gaa o |

A. gt o A Xfea wfpa da gri i g ® |

B. U2 GYANUT & foTU gaied 91 § USI elar g |

C. < Ul o1 TERT &4 €. U & e I ofd & YA & 5o
D. & ufda H Sffam] Sares &1 s $d § |

E. 2gd o1 i, Saer, did gafe 3w g Fem E au A € |

Hd U U [ds el © 9§ gal 3R &1 994 il -
(1) BAAA. C
(2) BAAA.B.C

(3) BATA.C.D.E
(4) PAAA. B

1[Option ID=44357]
2[Option ID=44358]
3[Option ID=44359]
4[Option ID=44360]

Sl. No.94
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Match List T with List IT

LISTI
Stage of Sewage
treatment process

LISTII
Targeted Pollutant

A |Primary treatment I |Suspended and floating particles

B PECitidaty II. |Phosphorus and Nitrogen
treatment

C. |Tertiary treatment III. |Pathogenic bacteria
Chlorination = :

i3 I — IV. |Suspended organic matter

Choose the correct answer from the option given below:
(1) A-L B-IL. C-IV, D-III
(2) A-IL B-I, C-III, D-IV
(3) A-L B-IV. C-II. D-III
(4) A-IL B-I. C-IV, D-III

el & 1 1Y I 11 BT e Sifore

A . I
fadia SR St HTRITE LFALY
A |oifiHe TR L Wi ife S &% 5
BREHRY AR

B. [fg<ias SuaR IL T

C. |geia® IuER il ﬁTl—;Fl?ﬁGﬂﬂlﬂg
D. |&iR=93uER V. |5t e

= fau Tg faw el § 4 el IR &1 T4 DI :
(1) A-I. B-II. C-IV. D-III

(2) A-IL B-L. C-III. D-IV

(3) A-I. B-IV. C-II. D-IIT

(4) A-IL B-I, C-IV. D-III

1[Option ID=44361]

2[Option ID=44362]

3[Option ID=44363]
4[Option ID=44364]

Sl. No.95
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Match List I with List II

LISTI LISTII
Conference year

A Stockholm 1 |1992
conference

B. |Earth summit Im. |1997
Convention on

N i
i Biological Diversity i [Ehd
D. |Eyoto Protocol V. |1993

Choose the correct answer from the options given below:
(1) A-IL B-III, C-I, D-IV
(2) A-IV, B-IL C-III D-I
(3) AL B-L. C-IV. D-II
(4) A-IV, B-II. C-1. D-III




il 1% 1Y Gl 11 DT e Bifee

I

A |wioem o L |1992
B. (gl geHeH L |1997
C. ‘3}: aw' afaEl R m. [1972
D. |FEiUe®i| V. [1993
1= 4T T faedl O ¥ Il 3R &1 I8 DI -

(1) A-IL B-IIL. C-L. D-IV
(2) A-IV. B-IIL. C-III. D-I
(3) A-IIL B-I. C-IV. D-II
(4) A-IV. B-IL. C-I. D-IIT
1[Option ID=44369]
2[Option ID=44370]

3[Option ID=44371]
4[Option ID=44372]

Sl. No.96
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Match List T with List IT

LISTI LISTII
Phenomenon Associated factor
A |Global Warming I |CO
B. |Air Pollution II. |Green House Gases
C. [|Water Quality III. |Humus
D. |Soil IV. |BOD

Choose the correct answer from the options given below:
(1) A-IL B-I, C-III, D-IV
(2) A-IL B-III. C-I, D-IV
(3) A-IL B-IL C-IV, D-III
(4) A-I B-IIL C-II, D-IV

i 1% 1Y Gl 11 T e Hifoe
I il
A |3y amH 1 |co
B. |d/gugyu I |gha e 19
C. |9 o . |ggaw
D (gaT W [dtanst

i fu U fased © O Uel 3R &l 944 i -
(1) A-IL B-L C-IIL, D-IV

(2) A-IL B-IIL C-I, D-IV

(3) A-IL B-L C-IV, D-III

(4) A-L B-IIL C-II, D-IV

1[Option ID=44373]

2[Option ID=44374]

3[Option ID=44375]
4[Option ID=44376]

Sl. No.97
QBID:13046372




Match List T with List IT

LISTI LISTII
Phenomenon Associated factors
A |Fossil fuel burmning | I |Radioactive waste
B. |Nuclear Power 1I. |Release of CO,
C. |Western Ghats III. |Aquatic Adaptation
D.

Stream lined body | IV. [Biodiversity hot spot of India

Choose the correct answer from the options given below:

(1) A-L B-IL C-IIL, D-IV
(2) A-IL B-I. C-IV, D-III
(3) A-IL B-IIL C-I, D-IV
(4) A-IL, B-I, C-IIL, D-IV
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(1) A-L B-II C-IIL, D-IV

(2) A-IL B-L, C-IV, D-III

(3) A-IL B-IIL C-I. D-IV

(4) A-IL B-L C-IIL, D-TV

1[Option ID=44377]
2[Option ID=44378]

3[Option ID=44379]
4[Option ID=44380]

Sl. No.98
QBID:13046373

Match List T with List IT

LISTI

LISTII
Activities/ Factors Associated Pollutants
A |Construction 1. |CO&NO;
B. [|Vehicles I |SO;
C. |Industry . |Al& Zn
D |Paddy mudland Iv. |CH,

Choose the correct answer from the options given below:

(1) A-L B-IL. C-IIL. D-IV
(2) A-IV. B-II. C-II. D-IV
(3) A-IL B-IL. C-II. D-IV
(4) A-IL B-I. C-IV, D-II
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i feu U fa el © T gl SR &1 994 Hifoiw
(1) A-I. B-IL. C-III. D-IV

(2) A-IV. B-III. C-II. D-IV

(3) A-III B-I. C-II. D-IV

(4) A-III B-I. C-IV, D-II
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1[Option ID=44381]
2[Option ID=44382]
3[Option ID=44383]
4[Option ID=44384]

Sl. No.99
QBID:13046374

Match List T with List IT

LISTI LISTII

Concepts Definitions

Common pool 1 Shared responsibility for the sustainable care of
resources " |our planet

Economic development that meets the needs of
B. |Sustainabilitv | II. |present generation without compromising the
needs of future generation

Those parts of environment available to everyvone
C. |Stewardship III.|but for which no single mdividual has
responsibility

: The ability to meet current human economic and
Sustainable : : i : BT =
IV |social needs without compromising the ability of
development & b
the environment to support future generations.

Choose the correct answer from the options given below:
(1) A-L B-IIL C-II, D-IV
(2) A-IIL B-II, C-IV. D-I
(3) AL B-IV, C-I, D-II
(4) A-IL B-I, C-III, D-IV
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(1) A-L B-III C-II. D-IV
(2) A-IL B-II. C-IV. D-I




(3) A-IL B-IV, C-I. D-II
(4) A-IL B-L. C-IIL D-IV

1[Option ID=44385]
2[Option ID=44386]
3[Option ID=44387]
4[Option ID=44388]

Sl. No.100
QBID:13046375

Match List T with List IT

LISTI LISTII
A |Atmosphere L |Outer crust of the Earth
B |Eriesnes m Comprises of both biotic & abiotic
component
Bidsphers L Sheet of gases that surround the
planet
D. |Lithosphere IV. |Comprises of water

Choose the correct answer from the options given below:
(1) A-IL B-IIL C-IV, D-I
(2) A-II B-IV, C-II. D-I
(3) A-IV. B-I, C-III, D-II
(4) A-IL B-IV. C-1. D-III
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(1) A-IL B-IIL C-TV, D-I
(2) A-IIL B-IV, C-II, D-I
(3) A-IV, B-I, C-III, D-II
(4) A-IL B-IV. C-1, D-III

1[Option ID=44389]
2[Option ID=44390]
3[Option ID=44391]
4[Option ID=44392]




